



Vendor Ranking

**Letting:** 07260204 February 04, 2026 11:00 AM **Call Order:** 003 **Contract:** E7U47-R0  
**District:** District 7 **Counties:** CITRUS, DIST/ST-WIDE, **Fed Aid No:** N/A  
**Contract Time:** 365 CALENDAR DAYS HERNANDO, **Project(s):** 41912715219 (\*)  
**Contract Desc:** DISTRICTWIDE GROUND MODIFICATION PASCO, PINELLAS

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ESTEP CONSTRUCTION, INC.	Responsive	Winning bid	\$698,260.00	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT	Responsive	Non-Winning Bid	\$959,020.00	137.34%
3	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$979,575.00	140.29%
4	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$1,155,737.29	165.52%
5	AJAX PAVING INDUSTRIES OF FLORIDA LLC	Responsive	Non-Winning Bid	\$1,625,818.00	232.84%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 07260204 February 04, 2026 **Call Order:** 003 **Contract:** E7U47-R0  
**District:** District 7 **Counties:** CITRUS, DIST/ST-WIDE, **Fed Aid No:** N/A  
**Contract Time:** 365 CALENDAR DAYS HERNANDO, **Project(s):** 41912715219 (\*)  
**Contract Descr:** DISTRICTWIDE GROUND MODIFICATION PASCO, PINELLAS

The work under this Contract consists of providing both non-emergency and emergency subsurface ground repairs on District 7 roadways impacted by sinkholes and/or voids resulting from stormwater pipe damage. The Contractor will be required to have immediate access to all materials, equipment, and labor required to initiate and perform repairs with continuous operations as directed in the work document issued by the Department.

Contractors must submit with their bid the "Experience in Sinkhole Remediation & Stabilization" Experience Form or be Prequalified in Sinkhole Remediation & Stabilization.

The contract will be awarded at the Department's Advertised Project Cost amount of \$1,000,000.00; low bid will set the unit price.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Note the Substituted Commercial General Liability Insurance requirements contained in section(s) 7-13.2 and 7-13.4 of the project Specifications.

Previous Contract E7P91, let 1/11/2023.

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0005 0102 14		10.000	75.00000	750.00	150.00000	1,500.00	60.00000	600.00
TRAFFIC CONTROL OFFICER		HR						
0010 0102 60		300.000	1.00000	300.00	10.00000	3,000.00	1.00000	300.00
WORK ZONE SIGN		ED						



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0015 0102 71 13 TEMPORARY BARRIER, F&I, LOW PROFILE, CONCRETE		25.000 LF	50.00000	1,250.00	85.00000	2,125.00	45.00000	1,125.00
0020 0102 71 16 TEMPORARY BARRIER, F&I, FREE STANDING		20.000 LF	45.00000	900.00	65.00000	1,300.00	35.00000	700.00
0025 0102 74 1 CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD		280.000 ED	1.00000	280.00	10.00000	2,800.00	1.00000	280.00
0030 0102 74 8 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)		20.000 FD	25.00000	500.00	15.00000	300.00	10.00000	200.00
0035 0102 75 1 TEMPORARY SEPARATOR, F&I REMOVE		40.000 LF	25.00000	1,000.00	60.00000	2,400.00	25.00000	1,000.00
0040 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL		50.000 ED	25.00000	1,250.00	40.00000	2,000.00	20.00000	1,000.00
0045 0102 89 1 TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION		2.000 LO	1,800.00000	3,600.00	1,600.00000	3,200.00	1,200.00000	2,400.00
0050 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		100.000 ED	40.00000	4,000.00	55.00000	5,500.00	35.00000	3,500.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0055 0102115 TYPE III BARRICADE		28.000 ED	10.00000	280.00	15.00000	420.00	10.00000	280.00
0060 0102909 TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS		20.000 DA	100.00000	2,000.00	75.00000	1,500.00	150.00000	3,000.00
0065 0110 1 1 CLEARING & GRUBBING		(1.000) AC (LS)	1,000.00000	1,000.00	6,500.00000	6,500.00	3,500.00000	3,500.00
0070 0110 4 10 REMOVAL OF EXISTING CONCRETE		15.000 SY	35.00000	525.00	75.00000	1,125.00	30.00000	450.00
0075 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		80.000 CY	35.00000	2,800.00	39.00000	3,120.00	55.00000	4,400.00
0080 0121 70 2 FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		10.000 CY	350.00000	3,500.00	370.00000	3,700.00	450.00000	4,500.00
0085 0160 4 TYPE B STABILIZATION		120.000 SY	20.00000	2,400.00	15.00000	1,800.00	10.00000	1,200.00
0090 0173 71 DRILLING HOLES FOR PRESSURE GROUTING		200.000 EA	100.00000	20,000.00	140.00000	28,000.00	600.00000	120,000.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0095 0173 76 GROUT PIPE INSTALLATION		3,000.000 LF	40.00000	120,000.00	62.00000	186,000.00	45.00000	135,000.00
0100 0173 77 3 SUBSURFACE PRESSURE GROUTING, CEMENT SLURRY		250.000 CY	410.00000	102,500.00	395.00000	98,750.00	400.00000	100,000.00
0105 0285701 OPTIONAL BASE, BASE GROUP 01		300.000 SY	18.00000	5,400.00	32.00000	9,600.00	15.00000	4,500.00
0110 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH		150.000 SY	8.00000	1,200.00	10.00000	1,500.00	8.00000	1,200.00
0115 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH		150.000 SY	8.00000	1,200.00	32.00000	4,800.00	10.00000	1,500.00
0120 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH		150.000 SY	8.00000	1,200.00	25.00000	3,750.00	10.00000	1,500.00
0125 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		150.000 SY	8.00000	1,200.00	25.00000	3,750.00	10.00000	1,500.00
0130 0327 70 7 MILLING EXISTING ASPHALT PAVEMENT, 4" AVG DEPTH		150.000 SY	8.00000	1,200.00	32.00000	4,800.00	10.00000	1,500.00
0135 0327 70 8 MILLING EXISTING ASPHALT PAVEMENT, 2 1/2" AVG DEPTH		150.000 SY	8.00000	1,200.00	35.00000	5,250.00	10.00000	1,500.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0140	0327 70 10	150.000	8.00000	1,200.00	35.00000	5,250.00	10.00000	1,500.00
MILLING EXISTING ASPHALT PAVEMENT, 5" AVG DEPTH		SY						
0145	0327 70 11	150.000	8.00000	1,200.00	25.00000	3,750.00	10.00000	1,500.00
MILLING EXISTING ASPHALT PAVEMENT, 2 1/4" AVG DEPTH		SY						
0150	0327 70 13	150.000	8.00000	1,200.00	25.00000	3,750.00	10.00000	1,500.00
MILLING EXISTING ASPHALT PAVEMENT, 1 3/4" AVG DEPTH		SY						
0155	0334 1 13	20.000	175.00000	3,500.00	429.00000	8,580.00	300.00000	6,000.00
SUPERPAVE ASPHALTIC CONC, TRAFFIC C		TN						
0160	0334 1 53	30.000	180.00000	5,400.00	420.00000	12,600.00	300.00000	9,000.00
SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, PG76-22		TN						
0165	0337 7 25	20.000	200.00000	4,000.00	420.00000	8,400.00	300.00000	6,000.00
ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22		TN						
0170	0337 7 80	15.000	200.00000	3,000.00	439.00000	6,585.00	300.00000	4,500.00
ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-9.5, PG 76-22		TN						
0175	0337 7 81	15.000	200.00000	3,000.00	439.00000	6,585.00	300.00000	4,500.00
ASPHALT CONCRETE FRICTION COURSE, TRAFFIC B, FC-12.5, PG 76-22		TN						
0180	0337 7 82	20.000	200.00000	4,000.00	439.00000	8,780.00	300.00000	6,000.00
ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-9.5, PG 76-22		TN						



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0185 0337 7 83 ASPHALT CONCRETE FRICTION COURSE, TRAFFIC C, FC-12.5, PG 76-22		30.000 TN	200.00000	6,000.00	439.00000	13,170.00	300.00000	9,000.00
0190 0350 5 CLEANING & SEALING JOINTS- CONCRETE PAVEMENT		25.000 LF	10.00000	250.00	35.00000	875.00	40.00000	1,000.00
0195 0350 6 CLEANING & SEALING RANDOM CRACKS- CONCRETE PAVEMENT		15.000 LF	10.00000	150.00	60.00000	900.00	40.00000	600.00
0200 0520 1 10 CONCRETE CURB & GUTTER, TYPE F		10.000 LF	55.00000	550.00	85.00000	850.00	65.00000	650.00
0205 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		50.000 SY	75.00000	3,750.00	145.00000	7,250.00	65.00000	3,250.00
0210 0570 1 2 PERFORMANCE TURF, SOD		35.000 SY	5.00000	175.00	9.00000	315.00	20.00000	700.00
0215 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		20.000 EA	10.00000	200.00	10.00000	200.00	20.00000	400.00
0220 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND, 8"		2.000 GM	1,200.00000	2,400.00	1,250.00000	2,500.00	800.00000	1,600.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0225 0710 11123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"		80.000 LF	3.00000	240.00	5.00000	400.00	5.00000	400.00
0230 0710 11124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"		80.000 LF	4.00000	320.00	5.00000	400.00	5.00000	400.00
0235 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		80.000 LF	4.00000	320.00	6.00000	480.00	8.00000	640.00
0240 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6" WIDE		2.000 GM	1,000.00000	2,000.00	750.00000	1,500.00	1,650.00000	3,300.00
0245 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSION, 6"		2.000 GM	1,000.00000	2,000.00	950.00000	1,900.00	1,800.00000	3,600.00
0250 0710 11160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL		10.000 EA	150.00000	1,500.00	100.00000	1,000.00	100.00000	1,000.00
0255 0710 11170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS		10.000 EA	100.00000	1,000.00	85.00000	850.00	100.00000	1,000.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0260 0710 11190 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ISLAND NOSE		60.000 SF	10.00000	600.00	8.00000	480.00	10.00000	600.00
0265 0710 11202 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR INTERCHANGE AND URBAN ISLAND, 8"		2.000 GM	1,000.00000	2,000.00	950.00000	1,900.00	5,000.00000	10,000.00
0270 0710 11224 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR DIAGONAL OR CHEVRON, 18"		70.000 LF	3.00000	210.00	6.00000	420.00	10.00000	700.00
0275 0710 11241 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXTENSION, 6"		2.000 GM	1,000.00000	2,000.00	500.00000	1,000.00	1,500.00000	3,000.00
0280 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NOSE		60.000 SF	10.00000	600.00	8.00000	480.00	10.00000	600.00
0285 0710 11331 PAINTED PAVEMENT MARKINGS, STANDARD,BLACK, SKIP, 6"		2.000 GM	1,000.00000	2,000.00	600.00000	1,200.00	1,650.00000	3,300.00
0290 0906173100 SINGLE COMPONENT POLYURETHANE INJECTION		2,500.000 GA	140.00000	350,000.00	159.00000	397,500.00	185.00000	462,500.00
0295 0906173200 TWO COMPONENT POLYURETHANE INJECTION		70.000 LB	30.00000	2,100.00	22.00000	1,540.00	45.00000	3,150.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0300 E101 72 MOBILIZATION (EMERGENCY RESPONSE)		5.000 EA	1,000.00000	5,000.00	12,000.00000	60,000.00	500.00000	2,500.00
0305 E102 20 PORTABLE LIGHTING UNIT (MAST MOUNTED)		2.000 ED	50.00000	100.00	350.00000	700.00	75.00000	150.00
0310 E102 74 9 TRAFFIC CONES		300.000 ED	1.00000	300.00	8.00000	2,400.00	1.00000	300.00
0315 E102 97 1 TRUCK MOUNTED ATTENUATOR (TEMPORARY)		2.000 ED	1,000.00000	2,000.00	1,650.00000	3,300.00	1,250.00000	2,500.00
0320 E710 11121 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		180.000 LF	2.00000	360.00	3.00000	540.00	20.00000	3,600.00
0325 E710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 6"		350.000 LF	2.00000	700.00	2.00000	700.00	20.00000	7,000.00
0330 E710 11221 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		400.000 LF	2.00000	800.00	2.00000	800.00	20.00000	8,000.00
0335 E710 11241 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"		350.000 LF	2.00000	700.00	2.00000	700.00	20.00000	7,000.00



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) ESTEP CONSTRUCTION, INC.		(2) ENVIRONMENTAL LAND DEVELOPMENT		(3) MIDWESTERN CONSTRUCTION, INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
<b>0001 TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
<b>Section Totals:</b>				<b>\$698,260.00</b>		<b>\$959,020.00</b>		<b>\$979,575.00</b>
<b>Contract Grand Totals:</b>				<b>\$698,260.00</b>		<b>\$959,020.00</b>		<b>979,575.00</b>



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001</b>			<b>(TRAFFIC CONTROL DEVICES CONTROL (MH</b>					
0005	0102 14	10.000	99.00000	990.00	140.00000	1,400.00		
	TRAFFIC CONTROL OFFICER	HR						
0010	0102 60	300.000	0.39000	117.00	2.00000	600.00		
	WORK ZONE SIGN	ED						
0015	0102 71 13	25.000	0.01000	0.25	265.00000	6,625.00		
	TEMPORARY BARRIER, F&I, LOW PROFILE, CONCRETE	LF						
0020	0102 71 16	20.000	0.01000	0.20	285.00000	5,700.00		
	TEMPORARY BARRIER, F&I, FREE STANDING	LF						
0025	0102 74 1	280.000	0.28000	78.40	1.00000	280.00		
	CHANNELIZING DEVICE- TYPES I, II, DI, VP, DRUM, OR LCD	ED						
0030	0102 74 8	20.000	0.28000	5.60	2.00000	40.00		
	CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)	FD						
0035	0102 75 1	40.000	0.01000	0.40	125.00000	5,000.00		
	TEMPORARY SEPARATOR, F&I REMOVE	LF						
0040	0102 76	50.000	7.70000	385.00	13.00000	650.00		
	ARROW BOARD / ADVANCE WARNING ARROW PANEL	ED						



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0045 0102 89 1 TEMPORARY CRASH CUSHION, REDIRECTIVE OPTION		2.000 LO	0.01000	0.02	1,880.00000	3,760.00		
0050 0102 99 PORTABLE CHANGEABLE MESSAGE SIGN, TEMPORARY		100.000 ED	16.50000	1,650.00	25.00000	2,500.00		
0055 0102115 TYPE III BARRICADE		28.000 ED	0.39000	10.92	1.00000	28.00		
0060 0102909 TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS		20.000 DA	24.20000	484.00	65.00000	1,300.00		
0065 0110 1 1 CLEARING & GRUBBING		(1.000) AC (LS)	2,200.00000	2,200.00	43,000.00000	43,000.00		
0070 0110 4 10 REMOVAL OF EXISTING CONCRETE		15.000 SY	24.20000	363.00	850.00000	12,750.00		
0075 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		80.000 CY	43.75000	3,500.00	630.00000	50,400.00		
0080 0121 70 2 FLOWABLE FILL, MAINTENANCE CONTRACTS ONLY		10.000 CY	717.50000	7,175.00	1,670.00000	16,700.00		



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0085 0160 4 TYPE B STABILIZATION		120.000 SY	18.70000	2,244.00	570.00000	68,400.00		
0090 0173 71 DRILLING HOLES FOR PRESSURE GROUTING		200.000 EA	375.00000	75,000.00	625.00000	125,000.00		
0095 0173 76 GROUT PIPE INSTALLATION		3,000.000 LF	40.25000	120,750.00	38.75000	116,250.00		
0100 0173 77 3 SUBSURFACE PRESSURE GROUTING, CEMENT SLURRY		250.000 CY	656.25000	164,062.50	550.00000	137,500.00		
0105 0285701 OPTIONAL BASE, BASE GROUP 01		300.000 SY	34.00000	10,200.00	570.00000	171,000.00		
0110 0327 70 1 MILLING EXISTING ASPHALT PAVEMENT, 1" AVG DEPTH		150.000 SY	8.00000	1,200.00	80.00000	12,000.00		
0115 0327 70 4 MILLING EXISTING ASPHALT PAVEMENT, 3" AVG DEPTH		150.000 SY	8.00000	1,200.00	80.00000	12,000.00		
0120 0327 70 5 MILLING EXISTING ASPHALT PAVEMENT, 2" AVG DEPTH		150.000 SY	8.00000	1,200.00	80.00000	12,000.00		
0125 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH		150.000 SY	8.00000	1,200.00	80.00000	12,000.00		



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0130	0327 70 7	150.000	8.00000	1,200.00	80.00000	12,000.00		
MILLING EXISTING ASPHALT PAVEMENT, 4" AVG DEPTH		SY						
0135	0327 70 8	150.000	8.00000	1,200.00	80.00000	12,000.00		
MILLING EXISTING ASPHALT PAVEMENT, 2 1/2" AVG DEPTH		SY						
0140	0327 70 10	150.000	8.00000	1,200.00	80.00000	12,000.00		
MILLING EXISTING ASPHALT PAVEMENT, 5" AVG DEPTH		SY						
0145	0327 70 11	150.000	8.00000	1,200.00	80.00000	12,000.00		
MILLING EXISTING ASPHALT PAVEMENT, 2 1/4" AVG DEPTH		SY						
0150	0327 70 13	150.000	8.00000	1,200.00	80.00000	12,000.00		
MILLING EXISTING ASPHALT PAVEMENT, 1 3/4" AVG DEPTH		SY						
0155	0334 1 13	20.000	250.00000	5,000.00	1,620.00000	32,400.00		
SUPERPAVE ASPHALTIC CONC, TRAFFIC C		TN						
0160	0334 1 53	30.000	250.00000	7,500.00	1,270.00000	38,100.00		
SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C, PG76-22		TN						
0165	0337 7 25	20.000	250.00000	5,000.00	1,380.00000	27,600.00		
ASPHALT CONCRETE FRICTION COURSE, INC BIT, FC-5, PG 76-22		TN						
0170	0337 7 80	15.000	250.00000	3,750.00	2,050.00000	30,750.00		
ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-9.5, PG 76-22		TN						



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0175 0337 7 81 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-22		15.000 TN	250.00000	3,750.00	2,040.00000	30,600.00		
0180 0337 7 82 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-9.5, PG 76-22		20.000 TN	250.00000	5,000.00	1,540.00000	30,800.00		
0185 0337 7 83 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC C, FC-12.5, PG 76-22		30.000 TN	250.00000	7,500.00	1,270.00000	38,100.00		
0190 0350 5 CLEANING & SEALING JOINTS- CONCRETE PAVEMENT		25.000 LF	11.00000	275.00	855.00000	21,375.00		
0195 0350 6 CLEANING & SEALING RANDOM CRACKS- CONCRETE PAVEMENT		15.000 LF	15.40000	231.00	920.00000	13,800.00		
0200 0520 1 10 CONCRETE CURB & GUTTER, TYPE F		10.000 LF	330.00000	3,300.00	910.00000	9,100.00		
0205 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		50.000 SY	66.00000	3,300.00	260.00000	13,000.00		
0210 0570 1 2 PERFORMANCE TURF, SOD		35.000 SY	15.40000	539.00	60.00000	2,100.00		
0215 0706 1 3 RAISED PAVEMENT MARKER, TYPE B		20.000 EA	11.00000	220.00	8.00000	160.00		



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0220 0710 11102 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR INTERCHANGE AND URBAN ISLAND, 8"		2.000 GM	1,100.00000	2,200.00	2,500.00000	5,000.00		
0225 0710 11123 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR CROSSWALK AND ROUNDABOUT, 12"		80.000 LF	4.40000	352.00	7.00000	560.00		
0230 0710 11124 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR DIAGONAL OR CHEVRON, 18"		80.000 LF	4.40000	352.00	7.00000	560.00		
0235 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STOP LINE OR CROSSWALK, 24"		80.000 LF	4.40000	352.00	7.00000	560.00		
0240 0710 11131 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 10-30 OR 3-9 SKIP, 6" WIDE		2.000 GM	1,100.00000	2,200.00	1,300.00000	2,600.00		
0245 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSION, 6"		2.000 GM	1,100.00000	2,200.00	1,300.00000	2,600.00		
0250 0710 11160 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, MESSAGE OR SYMBOL		10.000 EA	5.50000	55.00	125.00000	1,250.00		



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0255 0710 11170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS		10.000 EA	5.50000	55.00	63.00000	630.00		
0260 0710 11190 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ISLAND NOSE		60.000 SF	1.10000	66.00	13.00000	780.00		
0265 0710 11202 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR INTERCHANGE AND URBAN ISLAND, 8"		2.000 GM	1,100.00000	2,200.00	2,510.00000	5,020.00		
0270 0710 11224 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID FOR DIAGONAL OR CHEVRON, 18"		70.000 LF	4.40000	308.00	7.00000	490.00		
0275 0710 11241 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, 2-4 DOTTED GUIDELINE/6-10 DOTTED EXTENSION, 6"		2.000 GM	1,100.00000	2,200.00	1,300.00000	2,600.00		
0280 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NOSE		60.000 SF	4.40000	264.00	13.00000	780.00		
0285 0710 11331 PAINTED PAVEMENT MARKINGS, STANDARD, BLACK, SKIP, 6"		2.000 GM	1,100.00000	2,200.00	1,300.00000	2,600.00		
0290 0906173100 SINGLE COMPONENT POLYURETHANE INJECTION		2,500.000 GA	262.50000	656,250.00	110.00000	275,000.00		



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH</b>								
0295	0906173200	70.000	52.50000	3,675.00	50.00000	3,500.00		
TWO COMPONENT POLYURETHANE INJECTION		LB						
0300	E101 72	5.000	6,050.00000	30,250.00	29,500.00000	147,500.00		
MOBILIZATION (EMERGENCY RESPONSE)		EA						
0305	E102 20	2.000	220.00000	440.00	315.00000	630.00		
PORTABLE LIGHTING UNIT (MAST MOUNTED)		ED						
0310	E102 74 9	300.000	0.17000	51.00	1.50000	450.00		
TRAFFIC CONES		ED						
0315	E102 97 1	2.000	935.00000	1,870.00	2,050.00000	4,100.00		
TRUCK MOUNTED ATTENUATOR (TEMPORARY)		ED						
0320	E710 11121	180.000	2.20000	396.00	3.00000	540.00		
PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"		LF						
0325	E710 11141	350.000	2.20000	770.00	3.00000	1,050.00		
PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SKIP, 6"		LF						
0330	E710 11221	400.000	2.20000	880.00	3.00000	1,200.00		
PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SOLID, 6"		LF						
0335	E710 11241	350.000	2.20000	770.00	3.00000	1,050.00		
PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, SKIP, 6"		LF						



Tabulation of Bids

Letting: 07260204 February 04, 2026 Call Order: 003 Contract: E7U47-R0

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(4) TURTLE INFRASTRUCTURE PARTNERS, LLC		(5) AJAX PAVING INDUSTRIES OF FLORIDA LLC			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (TRAFFIC CONTROL DEVICES CONTROL (MH  
 0001 TRAFFIC CONTROL Section Totals: \$1,155,737.29 \$1,625,818.00  
 DEVICES CONTROL (MH)

Contract Grand Totals:	\$1,155,737.29	\$1,625,818.00
------------------------	----------------	----------------



Tabulation of Bids

---

**Letting:** 07260204 February 04, 2026 **Call Order:** 003 **Contract:** E7U47-R0

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*